
78

D

C

B

A

8 7

D

16 2345

5 46

A

B

12

ENGINEER

DRAWN

3

C

MODEL FILENAME

SIZE CAGE NUMBER DRAWING NUMBER REV

TITLE:

UNLESS OTHERWISE SPECIFIED
DIMENSIONS ARE IN INCHES

PR
O-
E 
GE
NE
RA
TE
D

FO
RM
AT
: 
D_
BO
M 
_O
UT
LI
NE

3RD ANGLE

17.25

12.00

.875

3.750

1.25

2X 5.18

2X 5.272

3.00

2X
1.58

15.72
2X

12.750

2X
1.484

(VIEW OPENING)
11.93

1.895

19.00

2X .345 2X 18.310

2.055 14.89

.72

2.50

THIS DOCUMENT IS THE EXCLUSIVE PROPERTY OF
SPARTON AYDIN, LLC D/B/A AYDIN DISPLAYS. IT
CONTAINS PROPRIETARY AND CONFIDENTIAL
INFORMATION OF THE COMPANY, AND IS DELIVERED
ON THE EXPRESS CONDITION THAT IT IS NOT TO BE
DISCLOSED OR REPRODUCED IN WHOLE OR IN PART,
NOR USED FOR MANUFACTURE BY ANYONE OTHER THAN
SPARTON AYDIN, LLC D/B/A AYDIN DISPLAYS;
AND THAT NO RIGHT IS GRANTED TO DISCLOSE OR SO
USE ANY INFORMATION CONTAINED IN THIS DOCUMENT.

SHT 1  OF 2  SHTSSCALE: 0.750
353-7388

2353-738870MF8D

OUTLINE DRAWING, MDL 8819, 9U (P/N 356-7062-695)
E.PELLICCIOTTI

Sep-23-15J. KRUMM

REVISION

ZONE LVL DESCRIPTION DATE APPROVED

0 INITIAL 11/4/15 EP

1 SHT 1, NOTE 2: WEIGHT WAS 22.0 LBS (EST). JK 1/28/16 EP

2
SHT 1, ZN D3: REPLACE CAPTIVE SCREWS (4). RADIAL
FLOAT WAS .013. SHTS 1 & 2: DEL SHEAR PINS (4) & 
DIMS. ADD GND STUD HARDWARE.          JK 4/4/16

EP

NEXT ASSY USED ON

APPLICATION

MODEL WEIGHT = 21.92 LBS, 3/29/16

USER CONTROLS & INDICATORS
(SEE DETAIL ON SHEET 2)

PDF353-7388 _REV_2

DRW353-7388

353-7388

ASM353-7388

CAD DATA MANAGEMENT

NOTES:

1. ALL DIMENSIONS ARE NOMINAL AND FOR
   REFERENCE ONLY,UNLESS OTHERWISE SPECIFIED.
 
2. WEIGHT: 20.6 LBS (1ST ARTICLE).     INDICATES CENTER OF GRAVITY, C.G.

SCALE  0.750

FRONT VIEW

(VIEW OPENING)

4X �n�.290 THRU
4X #10-32 UNF-3A THD
SCREWS WITH #10 FLAT
& LOCK WASHERS ARE
SUPPLIED SEPARATELY
AND SHOWN FOR REFERENCE
(NOMINAL RADIAL FLOAT IS .05)

MTG SURFACE

2X HANDLE
FRONT

REMOVABLE



TITLE:

SIZE

1

234567

8

1

234567

8

CAGE NUMBER REV

MODEL FILENAME:

A

B

C

D

A

B

C

D

FO
RM
AT
: 
D_
BO
M 
_O
UT
LI
NE

2X
3.937

2X
3.937

19.000

7.532

15.72

10.328

( )8.12

.218

 (C.G.).00

( )9.11

353-7388DRAWN:  J. KRUMM

SHT 2  OF 2  SHTSSCALE: 0.750  & AS NOTED

2353-738870MF8D

OUTLINE DRAWING, MDL 8819, 9U (P/N 356-7062-695)THIS DOCUMENT IS THE EXCLUSIVE PROPERTY OF
SPARTON AYDIN, LLC D/B/A AYDIN DISPLAYS. IT
CONTAINS PROPRIETARY AND CONFIDENTIAL
INFORMATION OF THE COMPANY, AND IS DELIVERED
ON THE EXPRESS CONDITION THAT IT IS NOT TO BE
DISCLOSED OR REPRODUCED IN WHOLE OR IN PART,
NOR USED FOR MANUFACTURE BY ANYONE OTHER THAN
SPARTON AYDIN, LLC D/B/A AYDIN DISPLAYS;
AND THAT NO RIGHT IS GRANTED TO DISCLOSE OR SO
USE ANY INFORMATION CONTAINED IN THIS DOCUMENT.

DETAIL OF USER CONTROLS

C.G.

A A

AA

(MTG SURFACE)

S-VIDEO INTERFACE CONNECTOR
(MINI CIRCULAR DIN)

COMPOSITE VIDEO INTERFACE CONNECTOR
(BNC)

VIDEO INTERFACE BNC CONNECTORS
(R, G, B, V, H) AC POWER CORD RETAINING BRACKET

SCALE  1.500

#10-32 UNF-2A GROUND STUD X
.55 LG (E1)

FUSE SLO-BLO 2.0A, 
250V, 5mm X 20mm (F1)

PRESSURE RELIEF VENT

C.G.

SCALE  0.750

REAR VIEW
AYDIN P/N LABEL LOCATED

APPROX WHERE SHOWN

4X #10-32 UNF-2B THREADED
HOLE MAX SCREW PROTRUSION
.250 (FROM OUTSIDE OF REAR
PNL) (VESA PATTERN 100mm SQ)
MARKED 'A'

AC POWER INPUT CONNECTOR
(IEC 320)

VGA INTERFACE CONNECTOR
(HD15F)

DVI INTERFACE CONNECTOR
(DVI-D)

COM PORT CONNECTOR
(DB9F)

POWER ON-OFF SWITCH


	Sheet 1
	Views
	new_view_1
	right_2
	top_7

	Zones
	D8
	D7
	D6
	D5
	D4
	D3
	D2
	D1
	C8
	C7
	C6
	C5
	C4
	C3
	C2
	C1
	B8
	B7
	B6
	B5
	B4
	B3
	B2
	B1
	A8
	A7
	A6
	A5
	A4
	A3
	A2
	A1


	Sheet 2
	Views
	new_view_4
	right_6
	bottom_11
	new_view_14

	Zones
	D8
	D7
	D6
	D5
	D4
	D3
	D2
	D1
	C8
	C7
	C6
	C5
	C4
	C3
	C2
	C1
	B8
	B7
	B6
	B5
	B4
	B3
	B2
	B1
	A8
	A7
	A6
	A5
	A4
	A3
	A2
	A1



